, ‘ Mucuon

Wonderful Home Master

ifurniture

Better, Cheaper, Smarter!
ifurniture.co.nz




Assembly Instruction

Ifurniture

NN\

Dear Customer
Thank you for choosing us.

Hope you satisfied with this product. If you have any questions about this product, please don't
hesitate to contact us . We will do our best to solve your problem in 24 hours.

WOHOMO is a professional online retailer committed to providing premium high quality furniture
including home desks, dining tables, chairs and bed frames etc.

We always make great effort to create best customer experience, any of your feedback is important
to us. We wish you could contact us at the first time to get our best customer service.

Sincerely

WOHOMO

Return & Refund Policy:
- Contact us first by email or wechat with pictures, problem will be solved in 24 hours.

- Problem can not be solved, get full refund or a free replacement.

Shopping Experience Sharing:
- Sharing makes shopping easy. Your sharing is important for us and all Amazon customers.

- Your satisfaction is our priority.

Assembly:

-If you have any problem about assembly, like missing parts or damaged, contact us first to get
your problem done in 24 hours.

-Confused about instruction, contact us to get clear advise.

PARTS LIST

of

‘ x2

heels

M M6*35 M

x ’ 8 Locked

=

@ ?15*95 N x3

x18

©6*30
P x20 O x]

L*350

@6.2*48
CcL -

x6

L*350

& | x4 |CR %2

L*350
x2

=~ “relDL

L*350

@3.5*12
DR 2

x40

JINNN 6 =

M4*22

A
B
C
D
E
F
G
H -

@21

x6

M4
x1

©5+*348
x2

~ | Al &

[ _
(—
| x2
-

l@ 2

2\

1°CS

D P
/ 1PCS 2PCS 1°CS 1°CS
10 1 12
< & X
2PCS 1°CS 1°CS 1PCS
15 16 17
S
1PCS 1°CS 1°CS 1PCS




—
—
—
—

Ifurniture

Assembly Instruction

x2
x]

@3.5%12

x20
x2
x3

@15*9.5

S
o 0

B @
O .2 =«
5
N &
O .=

STEP 3
STEP 4

AN Y 2o 8 e S o
% ~ (|D rs)
gl x| x| 2% X |8 x||8 % \\A b %
S
Eo——_

B| ® [~
O = =«

\W /«B

STEP 2



—
—
—
—

Ifurniture

Assembly Instruction

mG % s ©| =~ p— O o o — -
Mx x N ox| X @i\ 7
AL 307 o] KASLAS
O
<lo o] | ¥ ¥
| O -0 /
3w 8w — O o
2| \
P T e
™~ 00
o, o
L] L
= =
» »
Peolielzx ﬁ
1\
O
@JN%\
O ©
0, o
b T
= =
n v




—
—
—
—

Ifurniture

Assembly Instruction

@4*38

x4

O = | «i

F~

@) O)

STEP 11

E&P‘M

STEP 9

M6%*35
M4*22

STEP 12

STEP 10



—
—
—
—

Ifurniture

Assembly Instruction

x4

M4*22

M6*35

x2

x]

x]

K -~
O .=

STEP 15

x4

?15*9.5

B @

O .2 =«

STEP 13

x2

@6*30

x]

cC

O .=

STEP 14

10



—
—
—
—

Ifurniture

Assembly Instruction

o - || -d
&ﬁ//
-

©/o|D |5

I~

]

Q.

Ly

-

(7]

A N
mx%x%x X
n|O |-

(o

[

o.

UL

-

(7]

12

1



Assembly Instruction

Ifurniture

AN\

STEP 18

13

FINISH

You are so awesome, congratulations you get a new file cabinets.

Hope that WOHOMO file cabinets can improve your quality of life.

7

14




